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20. What is the mass in grams of each of the
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number of representative particles. Identify the
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! 29. Zinc chloride {ZnCIj} is used in soldering
45 .5 | flux. an alloy used to join two metals together.
Determine the moles of Cl™ ions in 2.50 mol
] ZnClL,.

+ 2. Eow many moles of oxygen atoms are present
in 5.00 mol diphosphorus pentoxide (P,0)?
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33. Challenge Calculate the number of moles of

HYpROGEN Part of the Periodic Table . hydrogen atoms in 1.15 X 10" mol of water. number of moles of each element in 1.25 mol
H s Jazall e e e He Express the answer in scientific notation. C.H,,0,.
1.00 4.0
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SODELIM MMAGHESILIM | ALLIMINUMM SILICIOM :ch:s.:m:unus SULFUR cnll_omhlb: ARGOM 2.30 x 10" mol H 1.25 1296 X m = 15.0 mol H
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19 g/mol 40 g/mol number of moles of sulfate ions present in 3.00
mol of Fe,(SO ).
""""""""" 200 3 mol 50,2~
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What is the percent by mass of sodium (Na) in
sodium sulfate (Na2S04)?
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